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POLITICAL SCIENCE
Paper — Il

Note : This paper containfifty (50) objective type questions dfvo (2) marks eachAll
questions are compulsory.

1.  For Plato which of the following statements is not true ?
(a) Ideas are substances.
(b) Ideas are essences of all things.
(c) Ideas are reflections of things.
(d) Ideas are universal.
Choose the correct answer from the codes given below :

Codes :
(1) (a)and (b) (2) (b) and (d)
(3) (b)only (4) (c)only

2. Who among the following called &thiavelli’'s “Prince” the greand true conception of a
real political genius with @ highest and noblest purpose ?

(1) Bentham (2) J.S. Mmill
(3) Hegel (4) Karl Marx

3. Match List — I with List — Il and select tle®rrect answer from the codes given below :

List — | . List -1l
(Authors) (Books)
(@) Quentin Skinner () Phismphy and Human Sciences
(b) Michael Sandel - (i)  The Fountilans of Modern Political Thought
(c) Giovanni Sartori { ) Liberalism and the Limits of Justice
(d) Charles Taylor (iv) Democratic Theory

Codes :

@ (@ () @
Q) @) (i) (v) ()
2 @ @) (i) (v)
() (i) (v) (i) ()
(4) (v) () (i) (i)

4. Who among the following considers Marxismlde an ideology rather than a political

theory ?
(1) Germino (2) David Held
(3) R.A.Danhl (4) G.H. Sabine
Paper-Il 2 J-02-16
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5. Arrange the following works of Isaiah Berlin chronological ordeof his publications.
Select the correct answer from the codes given below :
(@) Concepts and CategaiePhilosophical Essays
(b) Four Essays on Liberty
(c) Vico and Herder : Two 8dlies in the History of Ideas
(d) Karl Marx : His Life and Environment

Codes :
(1) (a), (b), (c) and (d) (2) (c), (b), (2) and (d)
(3) (d), (b), (c) and (a) (4) (b), (d), (@) and (c)

6. Who among the following conceived the sogieis ‘a cooperative venture for mutual
advantage’ ?
(1) Rawls (2) Nozick
(3) Hayek (4) Gramsci

7. Given below are two statements, one labetledAssertion (A) and the other labelled as
Reason (R). Select the correct aasivom the codes given below :
Assertion (A) : For Rousseau a thinking man is a depraved animal.
Reason (R) :Common emotions give value to life.
Codes:
(1) Both (A) and (R) are true, and (R)the correct explanation of (A).
(2) Both (A) and (R) are true but (R)not the correctelanation of (A).
(3) (A)is true, but (R) is false.
(4) (A)is false, but (R) is true.

8. Who among the following rejected the ideattltaste status was the result of divine
reward or punishment ?
(1) Bipin Chandra Pal (2) M.A.Jinnah
(3) Jawaharlal Nehru (4) M.K. Gandhi

9. Who among the following said : “Researchtwtored by theory may prove trivial, and
theory unsupported by data, futile” ?
(1) B.Crick (2) Charles Merriam
(3) David Easton (4) R.A.Dahl

10. Given below are two statements, one labetlsdAssertion (A) and the other labelled as

Reason (R). Select the correct aasivom the codes given below :

Assertion (A) : For Fukuyama, liberal democracy may constitute the end point of
mankind’s ideological evolution.

Reason (R) :The earlier forms of government wecbaracterised by grave defects and
irrationalities that led to their eventual collapse.

Codes:

(1) Both (A) and (R) are true, and (R)the correct explanation of (A).

(2) Both (A) and (R) are true but (RB)not the correctelanation of (A).

(3) (A)is true, but (R) is false.

(4) (A)is false, but (R) is true.
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11. Which of the following constutes the political elite ?
(1) Subalterns and marginalized leaders
(2) Rulers and subjects
(3) Leader and the followers
(4) Oligarchy and Aristocracy

12. Who among the following is associated with the initial stages in the growth of
comparative politics ?

(1) Karl Popper (2) Arthur Bentley
(3) E.H.Carr (4) Graham Wallas

i

13. Which branch of comparative politics seeko examine the formal and informal
mechanisms by which politicaltitudes are inculcated ?

(1) Political socialization (2) Political communication
(3) Political modernization (4) Political development

14. Who among the following contended that poét development isasdministrative and
legal development ?

Choose the correct answer from the codes given below :

(@) R.R.Rostow (b) Talcott Parsons
(c) Sorokin (d) Mawwaber
Codes :

(1) (a)and (d) (2) (b)and (d)

(3) (a)and(c) (4) (b)and(c)

15. Who became the first ever Prime Minister in a Parliamentary government ?
L]
(1) William Pitt, the Elder (2) Henry Pelham
(3) William Putenny (4) Robert Walpole

16. Who among the following were associated with institutional approach ?

(A) Carew Hunt (B) Herman Finer
(C) Roy C. Macridis (D) Carl Friedrich
Choose the correct answer from the codes given below :
Codes :
(1) (A and(C) (2) (B)and (D)
(3) (B)and(C) (4) (A)and (D)
Paper-Ii 6 J-02-16
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17. Arrange the following revolutions in ¢hsequence in which they took place :

(@) Chinese Revolution (b) Cuban Revolution
(c) Bolshevik Revolution (d) Puritan Revolution
Choose the correct answer from the codes given below :
Codes :
(1) (@), (b), (d), (c) (2) (b), (), (c), (d)
(3) (d), (c), (a), (b) (4) (), (d), (b), (a)

18. lIdentify the correct sequencetbk following input functions ?
(i) Political communication (i) Political socialization and recruitment
(iif) Interest aggregation (iv) Interest articulation
Select the correct answer from the codes given below :
Codes :
@) (), (i), (i) and (iv) (2)  (iv), (i), (i) and (ii)
(3) (i), (iv), (iii) and (i) 4) '(ii), (iii), (iv) and (i)

19. Given below are two statements, one labe#dedAssertion (A) and the other labelled as
Reason (R). Select the correct aasivom the codes given below :

Assertion (A) : Iron law of oligarchy establishedahultimate decision-making in all
democratic organizations including the packili parties is donby few leaders or a
small elite group.

Reason (R) :Decision making is very complex process which necessarily involves the
role of few who function on behalf of many.

Codes:

(1) Both (A) and (R) are true, and (R)the correct explanation of (A).
(2) Both (A) and (R) are true but (RB)not the correctelanation of (A).
(3) (A)is true, but (R) is false.

(4) (A)is false, but (R) is true.

20. Given below are two statements, one labededAssertion (A) and the other labelled as
Reason (R). Select the correct aasivom the codes given below :

Assertion (A) : Military is predominant in non-western demaocracies.
Reason (R) :Social fragmentation and cleavages édygontribute to political instability.
Codes:
(1) Both (A) and (R) are true, and (R)the correct exphation of (A).
(2) Both (A) and (R) are true but (RB)not the correctelanation of (A).
(3) (A)is true, but (R) is false.
(4) (A)is false, but (R) is true.
Paper-Il 8 J-02-16
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17. T=fafad shifaal s 37 gfed 8F o shH H HanRid T

(a) I i shifct (b) s SHifq
(c) areRITaes Hifd (d) YSTERETRT Hifd (@RkeT shifd)
e ST 7T e 1 TN Fd g Tel IR A ;
A
(1) (@), (b), (d), (c) (2) (b), (&), (c), (d)
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18. fr=ATeTE erer Ht (39 HeRiE) & Tel hY i fafed HifT
() oIS FEwoT (i) TSI TTHTSHeRLOT 31T et
(iii) T T (iv) fea s
e 5T TTT e 1 TN A gT HEl SR AT
FE :
Q) (), (i), (i) 3T (iv) (2) SiV), (i), (iii) 3T (ii)
(3) (i), (iv), (iii) 2 () (4) (i), (iii), (iv) 3R ()

19. =i 1 e f5U U €, TS @ ek o aifirene (A) 3 e e (R) el T | A fRe T

S T TN I G el I T

ANTHAT (A) : FeA B ol e () F i 64T o TeTifaes sei Gied Gt Arbaite
TS | P 13T A1 o7 A q9e gRT 3ifay w9 @ Fifq FuRor 6o S |

A% (R) : T (R0 U STeda Sieet uishan €, S99 oTevas €9 ¥ 5 AT Gt eid g, S
3 AT 1 3 W B A € |

&

(1) (A)TE (R)TH Tt € 31X (R), (A) Tl T&l AT |

(2) (A)TE (R)3H @&t €, W (R), (A) W&l A7 & € |

(3) (AT T W (R)TATE |

(4) (A)TEdE, W(R)TEE |

20. = 3 %o fRu e €, e @ ue i atfiyeeA (A) R S I (R) e T € | A g g
e N TANT A §Y Tl 3T T
AMHHYA (A) : T BT TR-ITTH Bl S o JaseT e g |
a%(Rg : HTHITSTeR fa@e 3HiX TR (FefiastsT) TeTiide ST | Tetsh ®0 d JHEH Hd
|
A
(1) (AW (R)IH &l € 3R (R), (A) S Tl A= E |
(2) (A)TE (R)THT Tt & A6 (R), (A) l Tel AR &1 € |
B (AT E W(R)TEAE |
(4) (AT €, W(R) TR & |
J-02-16 9 Paper-Ii

www.examrace.com



21. Identify the correct chronological order of the formation of the following political parties
in India :

(1) Justice Party, Hindu Maha Sabha, National Conference, Shiromani Akali Dal
(2) National conference, Shiromani Akali Dal, Hindu Maha Sabha, Justice Party
(3) Hindu Maha Sabha, Shiromani Akali Dal, National Conference, Justice Party
(4) Justice Party, Shiromani Akali D&lindu Maha Sabha, National Conference

22. Which one of the following pairis not correctly matched ?

(1) Conditions of eligibility of a Governor . Article 158
(2) Dismissal of a Governor lige President . Article 156 (2)
(3) Nomination of members of Legislati@ouncil by the Governor : Article 171 (5)
(4) Power of the Governor teecommend ‘Money Bill’ . Article 207

23. Consider the following statements and seklbe correct answer from the codes given
below :

Statement | : The only mode of initiating a propodar amendment is to introduce a bill
in either house of the Union Parliament.

Statement |l : If there is a disagreement betweea two Houses of Parliament regarding
the passage of a bill, the deadlock mayrésolved by a joint session of the two

Houses.
Codes :
(1) Only Statement | is true. (2) Only Statement Il is true.

(3) Both Statements | and Il are true. (4) Both Statements | and Il are false.

24. Match List — | with List — Il and select tlwrrect answer from the codes given below :

List—1 List—1l

(a) 34" Constitutional | ()  Transparency in judicial
Amendment Act appointments

(b) 61" Constitutional (i)  Declaration of Sikkim as a full
Amendmgnt Act fledged state

(c) 9 Cons?itut’ional (i) Lowering of voting age from 21
Amendment Act to 18 years

(d) 99" Constitutional (iv) Formation and functioning of co-

- Amendment Act operative societies
Codes :

(@ () () (@@

@ Gy Gy Gv) @)

2 @@ (v) () (i)

3 @iy G 0 v

(4 () (i) (iv) (i)
Paper-Il 10 J-02-16
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(2) AT kT, TR et 3o, forg meraT, Sihed aret
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(1) TSFUTE ! T I D T 158
(2) TeZUld FRT TSTUTS St ST . 3T 156 (2)
(3) TSIUTA FRT fore URug o |l T FAMAA . =T 171 (5)
(4) TsauTe o fast foeee Bt e a1 StHER L T 207

TTatEd FeFl W foar &Y X i 5T TT e 1 T S gU Hel SR 9T

HUT | GINEA & HE UETE B YR R 1 UHH aliehl WHE T6E & [Rd U 95T |
TardTes 1 TR FATE |

F || 3fs (5t fadess 1 o o & a1 | G5 & SHT 91 o Se STHEatd gl & af g
TEAT o TR S F TH TR Sl FHTEM R ST Fha € |

% :

(1) ot Ho-| T T | (2) e I W

(3) FA-| 3R FHeH-Il ST T | (4) FE-| 3T FE-I| T T €

Tt — | B GE — || & |1 GAAd Y 3 A KT 7T F A TET FRd gU Fal W g4
-1 = — Il
(a) 36 Tau-em@eNeT. (i)  =ATas R § IRERT
Tt w1
(b) 617 G does (i) Faferd i U qureter I % w9
arfafaal | =on
(c) 97ard e (i) HESE ey 219 @ T 18
et \ g HEAT
(d) 994 Tayiek |le  (iv)  HiHRice Fram=erst i 70T ua
_ ATt | FHTAYOTA!

HT
@ () (© (@
@ G @ av) (0
2 @) Gv) (@) (i)
@) (i) @ @) (v)
@ @) (@ @v) ()
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25.

Match List — | with List — Il and select tlwrrect answer from the codes given below :

List—1 List—1II
(@) Granville Austin ()  ‘Quasifederal’
(b) K.C.Wheare (i)  ‘Federatiowith strong centralising tendency’
(c) Appleby (i) ‘Cooperative federalism’
(d) Ivor Jennings (iv) ‘Extremely federal’
Codes :

@ () (¢ (@)
@ @ @ i) (v)
2 (i) @ (av) ()
@ i) @ @ (v)
@ @) @ 0 @)

26. Match List — I with List — Il and identify theorrgct answer from the codes given below :
List—1I List—1II
(Acts) , (Provlision)
(@) Government of () Introduction of bi-cameral legislature for the first
India Act, 1858 time J
(b) Indian Councils Act, (i) Complete imperial‘ﬁconttld?y Secretary of State for
1861 India o
(c¢) Indian Councils Act, (iii) In?:lusion of non-officialmembers in the Executive
1909 - Council of Governor General for the first time
(d) Government of v) “Separate representari of the Muslim community
India Act, 1919
Codes :
(@ () (c) (d)
1) Gy @i Gv) ()
) (i) @ @0 (v)
@) () (v) @) ()
4) (i) (v) @) (i)
27. Which of the following statements abouetWrit of Habeas Corpus is correct ?
(1) It can be issued to secure the release of a person who has been imprisoned by a court
of law on a criminal charge.
(2) It can be issued to interfere witlketproceeding for contempt by a Court of record or
by Parliament.
(3) The writis a very powerful safeguardthe subject againstlatrary acts not only of
private individuals but ab of the executive.
(4) By this writ, the Court can obtaiknowledge of the reasoa person has been
imprisoned but cannot set her/him free if the imprisonment is unlawful.
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25. A — | Gl — || & A1 G Y 3T A9 ST T e 1 T S gT Tel SR gHT

= - | = - I
(a) Ve st () o
(b) FT. =R (i) “THSIHROT Sl TSTad UG & QT T (BT’
(c) UYeTs (i) TEANTCHS AR (ISR heoron)

(d) amEeR St (iv) sred g
[ YA

(=N

@ () (¢ ()
@ @ @ i) (v)
) (i) @) (Gv) ()
@ i) @ @ (v)
@ @) @ 0 @)

26. Gl — | G — |l & 9y GATT B 3R At K T e H YET A §T TE 3T P TETH

HifsTT -
T — | = - I
(rferfram) (e
(8) WA WFN afufras, (i) Ueel aR fraeE TS H ST
1858 .
(b) wRe RS (i) e 5 2T e i
sy, 1861 4 ( Y
(c) YR aiws (iiiLl A SR TR SR Y R aRu # AR
aTatad, 1909 T ST STHCT YT |
(d) “RT WHR aAufa, __avf TReT TR S TN wRtte
1919
HT

(=N

@ () (¢ ()
@ @ @) Gv) ()
2 (i) @ @ (v)
@ ) Gv) @) ()
(4 (i) Gv) @ (i)

27. <t vcgefieRtoT Aifeeht o SR § Fefefad § 9 S 91 e 98 € ?
(1) =e el TR =t o RerE & fou STRI &t ST "epdt €, et fhdt =m@med §RT it
Y H g | TN AT |
2) %%ﬁ?aﬁﬁawmﬁwﬁwﬁwwﬁﬁm%mmﬁﬁw
el € |
(3) T T FaA it AT, Slosh HRAUNAHT & WSTEAR! FAl & GeATh ST . GERT &
foTT weh wifertemelt SUT € |

(4) =9 aAfawH | AR [t et B 3 H T % HRUT D STHBHR! AT FH Fhal &, TAhT
g HRIEMT 31 &l & af 3° o el L Fohell € |
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28. Assertion (A) : In the first three general elemts, India produat a ‘one party
dominance’ model, which is ffierent from one party system.

Reason (R) :Till 1967, the Congress party had exclusive control over governmental
power both at the Centre and alsariost of the states of India.

Codes:

(1) Both (A) and (R) are true, and (R)the correct exphation of (A).
(2) Both (A) and (R) are true but (RB)not the correctelanation of (A).
(3) (A)is true, but (R) is false.

(4) (A)is false, but (R) is true.

29. Arrange the following Speakers of Lok Sabharmdia in chronologicaorder and select
the correct answer from the codes given below :

l. Dr. Balram Jakhar [I.  Dr. Gurdial Singh Dhillon
[ll.  Neelam Sanjiva Reddy IV. Bali Ram Bhagat

Code : .

@ 1,V @ 0LV

(3) LIV, I OERINYANE

30. Which of the following High Courts have Bench/Benches ?
(1) AllahabadBombay,Jabalpur  (2) Jodhptjr, Bombay, Hyderabad
(3) Calcutta, Guwahati, Bangator (4) Jabalpuiyladras,Guwahati

31. According to Peter Self, the study of pubdidministration developed as an offshoot of
which one of the following ?

(1) Political Science or Public law (2) Politics or Ethics
(3) Public Policy or Policy making  (4) Political system or interest aggregation

32. Which one of the following is not a part of the underlying ideas of traditional or
mechanistic theory of organization ?

(1) It takes an administraBwiew of human relationship.

(2) It considers economic incentiviesbe the sole motivating factor.
(3) Itignores the dynamics of organizational behavior.

(4) It gives more importance to informal relationship.

33. Which one of the following key components of ‘governance’ was not identified by OECD,
while laying down conditions fareceiving economic assistance ?

(1) Participatorydevebpment (2) Strictauditing
(3) Human rights (4) Democratisation
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28. AMWHUT (A) : UIH T W A & UROTH F ‘THIEAT ool Higer Ied gaTl S Uhaetd
ToTeTt @ i |
& (R) : 1967 I% HiE & &5 X 9RA & IS Todl H WHRT A W THAL 5107
(VTN sheiel) T&T T |
FT
(1) (A)wa (R)3H @l €, 3R (R), (A) & 96 AmA € |
(2) (A)TE (R)SHI Wl &, W (R), (A) I Tl AR Tl ¢ |
(3) (AT E W(R)TE |
(4) (AT €, W(R)TEI & |
29. 9RA I A% T & ARG 3Teedl Sl 3 HIeTshish A H aied i 3K A 5T T %
T TN I gT el ST T :
. 1 SN SEe Il 3T e e fgeeti
I, o Ssian 2l V. afa T s
B! _
@ 10,0,V @ 1LV
@) 1,1V, | @) 1V,
30. FrfeiEd 3= =l § @ fhae! deydic € 2
(1) RS, GaE, e (2) ST, T, BETER
(3) ICTHA, TARE, SR (4) SETR, WS, TR
31. X o ¥ STIER A TR % S ) Frfenad 8 ¥ frae o % w7 § frwtad e
T T ?
(1) TSI fere 2 ethiary (2) T A g
(3) i =it & i FreiRor (4) TSI goTett a1 fed aqeaaT
32. T % YRR AT B (Jifeh) fagia & gerd fomamrt & fefeiad § & i 91 T 9
TRIE?
(1) o oFE Tog & a) T U FerafT gReR ST ¥ |
(2) & i MedTEeh (SAf<ad) Sl THAT Weh HRb AT & |
(3) & TSIHS IR i TRITHAT i SULT HT & |
(4) TE T Geel i ATk Hewel 3T € |
33. SNTHI 7 MM Terrdr St Wi & fore vt @ i s gu v () o foh o
! UETH Tél oA ?
(1) TIRRY - e fahm (2) ST R
(3) =Ha AFFR (4) AT
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34. Cybernetics means :
(1) Science of communicaty (2) Communicatiormethods
(3) Artificial intelligence (4) Science of control and communication
35. Who among the following thinkers advocateffective communication’ as a basic pre-
requisite for the attainmenf organizational goals ? J
(1) Herbert Simon (2) Peter Self L ]
Fy
(3) Chester Barnard (4) Woodrow Wilson
36. Taking an extreme view of the distinctibetween public and private administration, who
said that all organizations skegoublic and private features ? . _
(1) Dwight Waldo (2) "E.S. Savas
(3) Barry Bozeman (4) ) James W. Fesler
37. Given below are two statements, one labetledAssertion (A) and the other labelled as

Reason (R). Select the correct aasivom the codes given below :

Assertion (A) : Some departments are concermed only with purely administrative
work but some authority to make rules and regulations is also delegated to them by
the legislature.

Reason (R) :John M. Pfiffner prefers singleehd of the department under certain
circumstances.

Codes:

(1) Both (A) and (R) are true, and (R)the correct explanation of (A).

(2) Both (A) and (R) are true but (R)not the correctelanation of (A).

(3) (A)is true, but (R) is false.

(4) (A)is false, but (R) is true.

38. What is common among Duncan Black, Asnily Dowas, James Buchanan, and Kenneth
f\rrow ?

(1) They are all advocates of Pubiiboice Theory in public administration.

(2) They are all ex-Catet Secretaries of UK.

(3) They are all supportecs Whitley Councils in UK.

(4) They are all exponents of sfacal theories aidministration.
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34.

35.

36.

37.

38.

QeI T A ¢
(1) FEor & o (2) FEYOT GgiaEr
(3) FHhW FfgHdn (enfefrias Letioig) (4) FE=T SR FowoT 5t famm=

frfafad ¥ @ fo6d foeme 3 eAeTs @edi & Wid % ot T Jond Jd-3Tavashar & &
T UTecaTgeh {07 i fEqad i off |

(1) &= aad (2) dieX T®
(3) =R TS (4) T foewd

Al ST 5T U & &g 9% & 9) H U A(IaTRl gieshio 9T §U e et o fo <ot
T Wk 3R FsTt faroemati s |rem i € 1

(1) <amee awar ) ;é.éa. mam
(3) = =T (4) S T, HEeR

e g1 e €, H 9w B st (A) 31 38 @ % (R) Fel T E | A K T $e H
TN S gU Hel ST g0 :

Ffireme (A) : B fouT 7 Sheet g Tt S @ Hetd B §, Tk fou Heel 5N 5%
T wel fafam s % $o arfusr off wew fobw s € |

% (R) : S wH, TR $ uRfefadl & i foamT % Teher Jigar & s 3d § |
HE

(1) (A)TE (R) T @&t € 3 (R), (A) i T&t AT |

(2) (A)TE (R) 3 @&t €, W (R), (A) I Tel A7 & € |

B (AT E W(R)TEAE |

(4) (AT €, W(R) TR & |

S i, Tl S, ST Fa-H 3R Y T o s o7 9 § 2
(1) 3 = e TR ¥ e T i % R E |

(2) 3|t oA & e e gfed € |

(3) T Wt foreA o fegeetl HStaed & qHAH € |

(4) 3 Tt TR % ST Tl % UiquIes § |
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39. Maitch List — | with List — Il and select tle®rrect answer from the codes given below :

List—1I List— 1l
(Books) (Author)
(@) An Introduction to Administrative Law (i)  Frank J. Goodnow
(b) Justice and Administrative Law (i)  A.V. Dicey
(c) Comparative Administteve Law (i) James Hart |
(d) Introduction to the Study of the Law of (iv) W.A. Robson ] y
the Constitution d

Codes :

(@ () (c) (d)
1) Gv) @) (i) (i)
(2) (i) (i) (v) ()
3) (i) (v) @) (i)
@ @ (i) @) (v)

40. Which one of the following is the correct chronological order of the
Committees/Commissions/Reports ?

a i
(1) MastermarCommittee— Brownlow Committee — Gladshe Committee — Aitchison
Commission

(2) Aitchison Commission —Gladstone i@mittee — Brownlow Committee - Masterman
Committee

(3) Aitchison Commission — Masteaan Committee — Bromlow Committee —
Gladstone Committee

(4) Gladstone Committee — Aitchis Commission — Masterman Committee -
Brownlow Committee

41. Who among the following declared that the estiat retreating in the face of the superior
power of globalization ?

(1) McLean and McMillan (2) George Schwarzenberger
(3) Kenneth Waltz (4) Susan Strange

42. Who among the following argued that ‘realisnlikely to remain the single most useful
instrument in our itellectual toolbox’ ?

(1) Holsti (2) E.H.Carr
(3) Hans Margenthau (4) Stephen Walt
Paper-Il 18 J-02-16
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39.

40.

41.

42.

T — | B Gl — || & @1 GAferd Y 31T A9 ST T e 1 T e §T Tel SR gHT ;

= - | = - |l
(q&T) (FE®)
(8) A EreRH g teiieien & () % TS
(b) e ds weffwefea =t (i) wd. e g
(c) FFRfea ueMmieied (i) S=AEE __fq ‘]
(d) ERME T WS ME T Al AF T (iv) =9 U Jae . / ’
FRERE ( | r

@ ([ (© (@
@ vy @ @) (i)
2 @) (i) Gv) ()
@) @) (v) @ ()
@ @0 (@) (i) (v)

HHIST / FHHE /mw%ﬁ@ﬁwﬁmw%?
1) WW—WWEWW—WW

o (a o ~ (a o
(2) UMY DHRTT —TASE hHI — HATSTAT ShHI[ — HIEIHT HHI]

L)

o n - o 9 o o
(3) U HHRT — ATLZIHT hHZ[ — ST hHI[ — TS hHl|

(2 o (a} (2 ~ (2
(4) TSI hHI[ —UHHT hHIRH — HIREIHA hHI[ — SISl shHC

frefefiad & 9 forg =iwon =t off for T Ivaienor &f 3o Afed & THeT Ui 8¢ W1 ¢ ?

(1) el qa’rqu,ﬁ:w (2) ST TESHESR
@ @ T

fAfetfad & & e o6 feam on fop =renedens o suRl aifge ST TS (T61 o) | Tehd]
AT STFT STHIOT T Te ! T & 2

1) '%ﬁFﬂ?ﬁ (2) TUE FIR
(3) W mEER (4) W diee
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43. Which of the following is not the basic normtbe balance of power system that are clear
to each of the state actors enghgethe process of balancing :
(1) Any actor or coalitiothat tries to assume domaince must be constrained.
(2) States want to increase their caliids by acquiring territory, increasing their
population or developing economically.
(3) Negotiatings better than fighting.
(4) Other states are vied as potential enemies.
44. Match List — | with List — Il and select tlmrrect answer from the codes given below :
List — | List — Il ’
(Scholar) (Statement)
(&) McLean and (i) Itis not so much the abme power of a state as its
McMillan power position in relation tother states thaticounts.
(b) Morgenthau (i) Defined power as the capacity to impose one’s will on
others by relianee on effecéivsanctions in the case
of non-compliance.
(c) George (i) Defined powér as man’s.' control over the minds and
Schwarzerberger actions of gther men. '
(d) Van Dyke (iv) Power is the ability tg'make people do what they
would not otherwise have done.
Codes : ‘
(@ () () ()
@ Gv) (i) @) @
(2) () (i) (@) (i)
3 (v) () (i) (i)
@ O @ @) v
45. Atrticle 25 of the Charter of ehUnited Nations provides that
(1) Use of force is allowed for self-defence.
(2) Only peace loving statean become members of UN.
(3) All UN members agree to accept andrg@ut the decisions of the Security
Council.
(4) The Security Council has primamesponsibility under # Charter for the
maintenance of intertianal peace and security.
46. Which of the following has not been incorporated imbolian law, either fully or
partially ?
(13 The Tokyo Convention Act 1975
(2) The Rome Statute of the International Criminal Court.
(3) The Anti-Apartheid (Uniteg Nations Convention) Act, 1981
(4) The Geneva Convention Act, 1960
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43. frefatad & 9 39 @ wfe Tder ToTelt & gorgd faw @ E S 51 @2 teed ¥ 9 uls H
W §, S ferd e i ufshar & Her § —

1)
(2)

®3)
(4)

44, T -

(@)
(b)

(©)
(d)

%< .

(=N

(1)
()
®3)
(4)

T O T T ESYH, ST Taed TeUT hi- T T e, SHH! Srad fohar STT <1ey |

T &4 o 3o, SO SHEE | ghg 3 N w9 ¥ fahm 7 0T &THad Ser
T § |

TETE Sl o § STl & ST THTH gl Sec & |

3T YTS91 h FUTeT T3 o 9 H @ ST ¢ |

| =t i — |1 3 |1 G Y 3R e KT T Fe 1 T-0T Hd U Tl I g0
= - | = - |l r
(3TeA) ()
Hehot = Tal () T H Yo7 VR T Mool Tl €, Fie R ot s
HepTHeT 1 T H SHR! Wi HI ferfa gt St & |

e (i) SFER T e & Tl TMTETE S Uiy W) T
Wmﬁwﬁm’ﬁﬁaﬁmaﬁmﬁﬁ%w
ﬁﬁwﬁﬁ%ﬁéﬁ |

SISREISEESTS (iii) 3= AR %Hl A 3ﬁ'<”ob|<4| W AR & 0T i
ofert & =7 F

A TEH (iv) VIR g% Wefwa €, i @agwwreﬁ%ﬁw
Wﬂ;ﬁﬁﬂﬁmﬁ‘?-l ‘

@ () (© (@)
(v) (i) @) @)
(v) (i) @) (i)
(v) @) (i) (i)
@M @) (i) (v

45, [IFT AL & AR % 3TTe3-25% 3TAN

(1)
)
®3)

(4)

e % T st WET st S &l T E |

<hered et e T () YRt g b e o el € |

TR T & T IS G IR & (uiat o 3R i 31¥ 36 o] e T e
TAE |

TR ST T NS T AL it T GR&T T TG ol W SRR ¢ |

46. RAE FFA H U7 TUT AT SR T F FHEferad § ot et T8t fomam mar § 2

(1)
(2)
)
(4)
J-02-16

T Al FHoee THe 1975

T M B 3 § T et hie

T U} STRATES (FARLE AT FHralvH) T, 1981
T ST Hav T, 1960
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47. Which of the following statements is not corremgarding International Criminal Court ?
(1) The statute of International Criminal Court was adopted by United Nations
Conference on 18July, 1998.
(2) The International Criminal Court isot an organ of United Nations but it is an
independent organization.
(3) Its statute came into force ofi duly, 2002.
(4) The four organs of International Criimal Court are the Prikency, the Judicial
Division, the office of the Prosecutor and the Registry.
48. In which year the UN General Assembly adopted the Convention on the Rights of Persons
with Disabilities ?
(1) 2006 (2) 2007
(3) 2008 (4) 2009
49. Match List — I with List — Il and select tlerrect answer from the codes given below :
List — | ’ List — Il
(Committee of General Assembly of UN) (Issues related to Committee)
(@) First Committee f 0] '!;E(j()nomic and financial
(b) Second Committee (i) "Disarmamt and international security
(c) Third Committee (i) Special 150Iitica| and decolonisation
(d) Fourth Committee ? 4 (iv) éocial, humanitarian and cultural
Codes : '
(@ () () ()
@ @ @ Gv) (i)
@ 0 @ (i) v
3 O @) (@v) (i)
(4) (v) (i) (i) ()
50. Given below are two statements, one labetiedAssertion (A) and the other labelled as
Reason (R). Select the correct aasivom the codes given below :
Assertion (A) : End of Cold War signified a shift frordeological politis in International
relations.
Reason (R) :Religious fundamentalism is posing a threat to security.
Codes:
(1) Both (A) and (R) are true, and (R)the correct explanation of (A).
(2) Both (A) and (R) are true but (RB)not the correctelanation of (A).
(3) (A)is true, but (R) is false.
(4) (A)is false, but (R) is true.
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47.

48.

49.

50.

L MR AT (M) & TR | Fr=ferfiad o @ i |1 o W@l @l & 2

(1) T T % T J 18 ST, 1998 i ARG ARy =Irrerd shi Hfafy i Siieer
T o |

(2) SIRTLE ORI =TT G L H U 3T T &, Afh J¢ Teh Tl A ¢ |

(3) =T diafy 1 5emE 2002 7] €% |

(4) SILE RS =R & IR T § - U, e fedism, siifed w7
TR 3T AT |

G T ! HeTawT o Ftearad | 9 5| o 7 foreeti safdal o STeehRi I Fawe 3iiida
fopa e 2

(1) 2006 (2) 2007

(3) 2008 (4) 2009

Tt — 1B G — 1 1 Tt b e e Y @R A R T et bt T e g e s g
aeft | T ool

(TG T Y AT THT HI AHIT) (wfafa @ gafaa wae)

(a) e Wt (i) s e

(b) Tedit wfafa (i) TR SR siaRieda geen

(c) e |t (i), ferfemee Trsteiifqen wel fraiafmianon

(d) =g |fEfa « v GrIiTh, AHAT 3R qh{as

XA

(=N

@ () (¢ (d)
Q) @) @ (v) (i)
2 @ () (i) (v)
@) @ (i) (@v) (i)
) (v) (i) (i) ()
e 37 e 5T e, e @ ue o et (A) 3R g as (R) e T Y | A 5T T
T T TN R Y el SR gT -
At (A) : 3T J5 H TN SRR Gaul § Se1ies I § gNad= ST goeh o |
qF (R) : N HATEE R F U Teh TRT U081 H @& |
A
(1) (A)TE (R) 3 @&t € 31X (R), (A) Sl T& AT |
(2) (AW (R)IH el g, W (R), (A) T Tel = et €
(3) (AW E W(R)TeA ¢ |
(4) (AT e, W(R) T E |
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